Garland Independent School District

GISD Sourcing Bid Tab Report

ı	Bid#:	31783	Title: 47-17 Batteries (Warehoused)
ı			

Quote#	Vendor / Supplier	FPCN	Discou
	A AND W BEARINGS AND SUPPLY COMPANY INC	YES	
	BATTERIES PLUS BULBS #408	Yes	10%
492878	*CRESCENT ELECTRIC SUPPLY COMPANY	ves	2
492857	EMPIRE PAPER COMPANY	No	0
492886	EVCO PARTNERS LP DBA BURGOON COMPANY	yes	20%,
			freight
492924	INTERLINE BRANDS INCORPORATED DBA	Yes	15
492928	MCKINNEY OFFICE SUPPLY INCORPORATED	Yes	5-50%.
492917	POLLOCK PAPER DISTRIBUTORS	Yes,	20-40%
		if	off of
		they	TASB
492921	PYRAMID SCHOOL PRODUCTS	YES	20%
492864	REXEL USA INC	Yes	n/a
492841	W W GRAINGER INCORPORATED DBA GRAINGER	Yes	0% All
		as	pricing
		lona	is in

*Confidential

			*Confidential					
Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
1	BATTERY, ALKALINE, AAA, SOLD AS 4 PACK, DURACELL, ENERGIZER, OR EQUAL	N	4M0	PK	*CRESCENT ELECTRIC SUPPLY COMPANY	2500		
		Υ		PK	PYRAMID SCHOOL PRODUCTS	2500	\$0.92	\$2,300.00
				PK	POLLOCK PAPER DISTRIBUTORS	2500	\$1.00	\$2,500.00
				PK	A AND W BEARINGS AND SUPPLY COMPANY INC	2500	\$1.44	\$3,600.00
				PK	MCKINNEY OFFICE SUPPLY INCORPORATED	2500	\$2.83	\$7,075.00
				PK	BATTERIES PLUS BULBS #408	2500	\$3.99	\$9,975.00
				PK	EMPIRE PAPER COMPANY	2500	\$4.67	\$11,675.00
				PK	INTERLINE BRANDS INCORPORATED DBA SUPPLYWORKS	2500	\$5.05	\$12,625.00
2	BATTERY, ALKALINE, AA, SOLD AS 4 PACK, DURACELL, ENERGIZER, OR EQUAL	N	4M0	PK	*CRESCENT ELECTRIC SUPPLY COMPANY	2000		
		Υ		PK	PYRAMID SCHOOL PRODUCTS	2000	\$0.92	\$1,840.00
				PK	POLLOCK PAPER DISTRIBUTORS	2000	\$1.09	\$2,180.00

Line# Item Description Award (Y / N) Reason UOM Supplier Qty PK A AND W BEARINGS AND SUPPLY COMPANY INC 2000 PK MCKINNEY OFFICE SUPPLY INCORPORATED 2000 PK BATTERIES PLUS BULBS #408 2000 PK EMPIRE PAPER COMPANY 2000	\$2.83	\$5,660.00 \$7,980.00
PK A AND W BEARINGS AND SUPPLY COMPANY INC 2000 PK MCKINNEY OFFICE SUPPLY INCORPORATED 2000 PK BATTERIES PLUS BULBS #408 2000	\$1.44	\$2,880.00 \$5,660.00 \$7,980.00
PK MCKINNEY OFFICE SUPPLY INCORPORATED 2000 PK BATTERIES PLUS BULBS #408 2000	\$2.83	\$5,660.00 \$7,980.00
PK MCKINNEY OFFICE SUPPLY INCORPORATED 2000 PK BATTERIES PLUS BULBS #408 2000	\$2.83	\$5,660.00 \$7,980.00
PK BATTERIES PLUS BULBS #408 2000	\$3.99	\$7,980.00
PK BATTERIES PLUS BULBS #408 2000	\$3.99	\$7,980.00
PK BATTERIES PLUS BULBS #408 2000	\$3.99	\$7,980.00
	\$4.25	
	\$4.25	
	\$4.25	
PK EMPIRE PAPER COMPANY 2000		\$8,500.00
PK EMPIRE PAPER COMPANY 2000		\$8,500.00
THE EMILIE IN ENGINEER TO SHE AND THE PROPERTY OF THE PROPERTY		ψο,οσοίου
1 1 1 1	\$5.09	
	\$5.09	1
INTERLINE BRANDS INCORPORATED DBA PK SUPPLYWORKS 2000		\$10,180.00
BATTERY ALKALINE DICELL DIIDACELL	il i	
BATTERY, ALKALINE, D CELL, DURACELL, 3 ENERGIZER, OR EQUAL Y EA PYRAMID SCHOOL PRODUCTS 500	\$0.56	\$280.00
EA POLLOCK PAPER DISTRIBUTORS 500	\$0.72	\$360.00
EA BATTERIES PLUS BULBS #408 500	\$1.06	\$530.00
EA A AND W BEARINGS AND SUPPLY COMPANY INC 500	\$1.08	\$540.00
EA *CRESCENT ELECTRIC SUPPLY COMPANY 500		
EA MCKINNEY OFFICE SUPPLY INCORPORATED 500	\$1.28	\$640.00
EA EMPIRE PAPER COMPANY 500	\$2.68	\$1,340.00
INTERLINE BRANDS INCORPORATED DBA		
EA SUPPLYWORKS 500	\$111.91	\$55,955.00
BATTERY, ALKALINE, C CELL, DURACELL,		
4 ENERGIZER, OR EQUAL Y EA PYRAMID SCHOOL PRODUCTS 500	\$0.39	\$195.00
EA POLLOCK PAPER DISTRIBUTORS 500	\$0.51	\$255.00
LA FOLLOGRAPER DISTRIBUTORS 300	φυ.σ1	φ200.00
EA A AND W BEARINGS AND SUPPLY COMPANY INC 500	\$0.73	\$365.00

		Award						
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				ΕΛ	*CRESCENT ELECTRIC SUPPLY COMPANY	500		
				EA	CRESCENT ELECTRIC SOFFLY COMPANY	300		
				EA	BATTERIES PLUS BULBS #408	500	\$1.05	\$525.00
				EA	MCKINNEY OFFICE SUPPLY INCORPORATED	500	\$1.28	\$640.00
				EA	EMPIRE PAPER COMPANY	500	\$2.68	\$1,340.00
					INTERLINE BRANDS INCORPORATED DBA			
				EA	SUPPLYWORKS	500	\$111.91	\$55,955.00
5	BATTERY, ALKALINE, 9 VOLT, DURACELL, ENERGIZER, OR EQUAL	N	4MO	FΔ	*CRESCENT ELECTRIC SUPPLY COMPANY	1000		
	- THE ROLLIN, ON EGOAL		41010		OKESSENT EEESTKIS SSTTET SSIMI ANT	1000		
		Υ		EA	PYRAMID SCHOOL PRODUCTS	1000	\$0.74	\$740.00
				EA	MCKINNEY OFFICE SUPPLY INCORPORATED	1000	\$0.86	\$860.00
				EA	POLLOCK PAPER DISTRIBUTORS	1000	\$1.20	\$1,200.00
					A AND W BEARINGS AND SUPPLY COMPANY INC	1000	64.40	£4 400 00
				EA	A AND W BEARINGS AND SUPPLY COMPANY INC	1000	\$1.40	\$1,400.00
				EA	BATTERIES PLUS BULBS #408	1000	\$1.92	\$1,920.00
								. ,
				EA	EMPIRE PAPER COMPANY	1000	\$3.22	\$3,220.00
					INTERLINE BRANDS INCORPORATED DBA			
				EA	SUPPLYWORKS	1000	\$304.01	\$304,010.00
	BATTERY, ALKALINE, 6 VOLT, SPRING TOP,			_	DVD AMID COLLOCK PRODUCTS	0.0	^-	<u> </u>
6	DURACELL, ENERGIZER, OR EQUAL	Υ		EA	PYRAMID SCHOOL PRODUCTS	20	\$3.99	\$79.80
				FΔ	BATTERIES PLUS BULBS #408	20	\$5.07	\$101.40
					2 2.M201 200 D0220 #700		Ψ5.01	\$101.40
			<u>L</u>	EA	*CRESCENT ELECTRIC SUPPLY COMPANY	20		
		_	_	_		_		

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
						•		
					INTERLINE BRANDS INCORPORATED DBA SUPPLYWORKS	20	\$8.16	\$163.20
							, , , ,	,
				EA	A AND W BEARINGS AND SUPPLY COMPANY INC	20	\$8.72	\$174.4 0
							, , ,	
				EA	EMPIRE PAPER COMPANY	20	\$13.13	\$262.60